100 PRINT CHRS$ (147)
110 POKE 53280,1
120 POKE 53281, 0

130 rem

500 X% = 0 Y$s = 4 C% = 2 : GOSUB 550
510 X% = 0 Y% = 6 C% = 8 GOSUB 550
520 X% = 0 Y% = 8 C% = 5 : GOSUB 550
530 X% = 0 Y$ = 10 : C% = 7 : GOSUB 550
540 END

550 FOR I = 0 TO 39 STEP 4

560 X% = I

570 POKE 1024+X%+40*Y%, 108 : POKE 55296+X%+40*Y%, C%

580 POKE 1024+X%+1+40*Y%, 98 : POKE 55296+X%+1+40*Y%, C%

590 POKE 1024+X%+2+40*Y%, 98 : POKE 55296+X%+2+40*Y%, C%

600 POKE 1024+X%$+3+40*Y%, 123 : POKE 55296+X%+3+40*Y%, C%

610 POKE 1024+4X%+40*(Y%+1l), 124 : POKE 55296+X%+40* (Y3+1l), C%
620 POKE 1024+4X%+1+40* (Y%+1l), 226 : POKE 55296+X%+1+40* (Y$+1),

o)
o

630 POKE 1024+4X%+2+40* (Y%+1), 226 : POKE 55296+X%+2+40* (Y$+1),

[e)
o

640 POKE 1024+4X%+3+40* (Y3+1), 126 : POKE 55296+X%+3+40* (Y%+1),

o)
o

650 NEXT I
660 RETURN



